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1. RAK=E(1BEY)

2. RAKT—FFH4E=E(1HFEH)
3. KT —F3EE (1 HEY)
4. KEREZEABRER(ETFHIE)

99,560 m3/H

5494 t/H

86.42 t/H

_ W & 1B B AT K WK P EE

K R [°C 21 22 -
BRE [FE] 4.8 98 -
KEAFVEE [-] 7.8 7.0 5.8~8.6
FHEMEE [mg/L] 200 4 40
EYIEENBIERE [mg/L] 230 6.4 15
tZHWBEERE [mg/L] 130 9.3 25
2EFR [mg/L] 37 9.9 -
TFUOETHESR [mg/L] 16 4.2 -
HIEMEESR [mg/L] 0. 1K 0.8 -
EEMEER [mg/L] 0.4 2.8 -
EHEESR [mg/L] 17 2.2 -
EVP [mg/L] 4.7 1.2 —
lERA 4> [mg /L] 43 57 -
I EN [mg/L] 0. 01K 0. 01K 0.1
ST UIEED [mg/L] 0. 1k ES 1
gy [mg/L] 0. 1%k 0. 1K 0.2
pie) [mg/L] 0. 1K 0. 1kiH 0.1
N2 O L [mg/L] 0. 05k i 0. 05K 0.5
(0¥ [mg/L] 0. 002k i 0. 002k 0.1
2 KER [mg/L] 0. 0005 ;i 0. 0005%; 0. 005
7L ILIKER [mg /L] 0. 0005 & 0. 0005%i% TEH
RYEILETD =)L [mg/L] 0. 0005k ;i 0. 0005k ;i 0.003
FUsOoOTIFLY [mg/L] 0. 002K i 0. 002k i 0.3
FhSHYOOIFLY [mg/L] 0. 002K i 0. 002k i 0.1
CHOoQrey [mg/L] 0. 002K i 0. 002k i 0.2
Paig 1k sk [mg/L] 0. 002K i 0. 002k i 0.02
1.2->4/00xI4y [mg/L] 0. 002K i 0. 002k i 0.04
11->/On0ITFLy [mg/L] 0. 002K i 0. 002k i 1
SR-1.2-UHO00TFLY [mg/L] 0. 002K i 0. 002k i 0.4
1.1.1-k)oonxTay [mg/L] 0. 002K ji% 0. 002k ;&% 3
1.1.2-k)oo0xTay [mg/L] 0. 002K i 0. 002k i 0.06
1.3-UoHyon’aoxky [mg/L] 0. 002K i 0. 002k i 0.02
FoSL [mg/L] 0. 005 i 0. 005k i 0.06
I [mg/L] 0. 002K i 0. 002k i 0.03
FARAILD [mg/L] 0. 005k i 0. 005k i 0.2
oty [mg/L] 0. 002k i 0. 002k & 0.1
L [mg/L] 0. 001K 0. 001k i 0.1
EF5% [mg/L] 0.08 0.05 230
5ok [mg/L] 0.9 0.2 15
TUEZTHEZREZEFILEY  [mg/L] — 5.3 100
14-SAF %Y [mg/L] 0.05%ki% 0.05%k% 0.5
n-~NFHUHEME [mg/L] 22 1K 10
J1/)—)LEE [mg /L] 0. 2K 0.2k 0.5
£ [mg/L] 0. 05K 0.05%k% 3
i) [mg/L] 0.09 0. 02K % 2
AR [mg/L] 0.13 0. 08k i 10
RfEET VA Y [mg/L] 0.04 0.03 1
245054 [mg/L] 0. 05k i 0. 05K 2
—vaL [mg/L] 0. 06k iiE 0. 06k 1
KGR B [1&/mL] 350, 000 130 3000
— AR E 2 [1&/mL] 2,400, 000 2300 —
f24 4 RmEHEE [mg/L] 3.9 0. 03K i -
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5 FA4AX L UBEREHREFHIE)

A & 185 _H A AT K mE K HEHEE
PCDD s (pg-T1EQ/L] 0.14 0. 00027 =
PCDF s [pg-TEQ/L] 0.010 0 -
2J5FPCB [pg—TEQ/L] 0.039 0.0013 =
& if [pg—TEQ/L] 0.19 0.0015 10
6. FEHIFEHH R (A F U LERERER

W & E o [ —=F == BEEE
PCDD s [ng-TEQ/Nm]] _ 0. 00023 0 =
PCDF s jng—TEO/NmﬂI 0 0 -
2 J5FPCB [ng—TEQ/Nm’]l __0. 0000016 0.0000038 =
& & [ng—TEQ/Nm*]] 0. 00023 0. 0000038 5




